/d mean p_ [GeV]*

1/N,, dN,,

Ratio to ATLAS

o
©

o
o)

o
\l

o
o))

o
&

©
~

o
w

0.2

0.1

[EEY

0.5

13000 GeV pp Z+Jet
- —

A L A N L Y N B Y R L L R L A B |
— Nch (ATLAS UE in Z production) _
[ m ATLAS —
-G~ Herwig++ 2.7.1 default _
[ --3-- Herwig 7.2.1 default —
- m | ,EJ\ |
- o/ U STl g _
- S B e B g n
— SH & B, .
H 3 9-. \i\% _
- m@'gﬁﬁ . ]
— @ B g ]
_ mne 8
— o gl -
mgi PR PO PO N RO RO AU RO S TN TN NN TN N A RN H S|
: :: |“I T T | T T T | T T T T | T T T T | T :I
S -
S I E
FL L E0 T e ‘
B CID P L1 EJ i P00 ﬂ@@@g-'g al - |
'I: I:’-II 'II/ ! 2 q _ \:’ \ \\@— ~ |

- g gb ¢ © ? Eo .
B |
L a9 i
| :':' ‘.:lj: _
l:l:u ‘l' 1 1 1 | 1 1 1 1 " | " 1 1 1 1 | 1 1 1 1 | 1 1

0 1 2 3 4

Mean pT/dr] do

Rivet 3.1.10, = 3.2M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


